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HRS—2 BEMICHERTILEESNIERICHEIZERI/) i REEE | Fl2FE
2EFIONE | EBmEs 754C1006 [ ERE | Z-1 [ et | BTk R X ]
) SMERIHhD FTin(ZhBEEd 51 i SMERIHRA
ﬁg TREOBEBOSILHOKRES TERFDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREOHBESEILADKES
5 X 4 B | Timh o DR jjo)jtajé R 4 TIwmALDKE [ F& meajé R 4 B | LmAhoDE jjo)jtajé K 4 HiEhooks | & jmjtéfé
(m) (m) (kN/ ) EEBf(m) (m) (kN/ ) (m) (m) (kN/ i) (m) (m) (kN/ )
7 100kN/mM#EBZ5 | 1.00 | 0.00 ~ 333 1563.47 |3mERZB| 0.00 ~ 0.18| 3.09 15.61 | 100kN/miZ#825 | 1.00 | 1058 ~ 3614 153.47 |3m&ERBZB| 3000 ~ 36.14| 3.09 15.61
s 1.00 | 333 ~ 1112 100.00 | #nlst | 0.18 ~ 1112 3.00 16.16 st 1.00 | 6.00 ~ 1058 100.00 | =nst | 6.00 ~ 3000 3.00 15.16
2 100kN/m%E#Bz5| 1.00 | 000 ~ 313| 14990 |3mE#BZ5| 0.00 ~ 0.08| 3.04 156.37 | 100kN/mi%#82% | 1.00 | 10.68 ~ 34.11 149.90 |3mERBZB| 5000 ~ 3411 | 3.04 15.37
s 1.00 | 313 ~ 1091 100.00 | #=nlst | 0.08 ~ 1091 3.00 16.16 st 1.00 | 6.00 ~ 1068 100.00 | =nst | 6.00 ~ 3000 3.00 15.16
3 100kN/m%E#BZ5 | 1.00| 000 ~ 286 14537 |3mEEZD -~ - - -] 100kN/ %8825 | 1.00 | 1094 ~ 3394 14537 |3m%E#BZ% -~
s 1.00 | 286 ~ 1065 100.00 | =St | 0.00 ~ 1065| 2.97 156.01 st 1.00 | 6.00 ~ 1094 100.00 | =nhst | .00 ~ 3391| 2.97 15.01
4 100kN/mM#E#BZ5 | 1.00 | 000 ~ 244 13825 |3m%E#BZ 5D -~ - - -] 100kN/ %825 | 1.00 | 11.40 ~ 3098 13825 |3m%EiBz% -~
s 1.00 | 244 ~ 1023 100.00 | #=nlst | 0.00 ~ 1023 2.90 14.65 st 1.00 | 6.00 ~ 1140 100.00 | =hst | .00 ~ 3098| 2.90 14.65
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ zhLst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ zhLst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ zhLst ~ Fhst ~ zhLst ~
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ zhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM#%#8% % ~ 3mERBAD ~
zhst ~ zhLst ~ Fhst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ zhLst ~ Fhst ~ zhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ zhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ zhLst ~ FhLst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zhst ~ zhLst ~ Fhst ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ zhLst ~ Fhest ~ st ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ zhLst ~ FhLst ~ st ~
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